

$$H = \sum_k [A_k a_k^\dagger a_k - \frac{1}{2} B_k (a_k a_{-k} + a_k^\dagger a_{-k}^\dagger)]$$

$$[a_k, a_{k'}^\dagger] = \delta_{kk'} \quad ; \quad [a_k, a_{k'}] = [a_k^\dagger, a_{k'}^\dagger] = 0$$

$$A_k = A_{-k} \quad , \quad B_k = B_{-k}$$

$$H = \sum_k \left[\frac{1}{2} A_k a_k^\dagger a_k + \frac{1}{2} A_{-k} a_{-k}^\dagger a_{-k} - \frac{1}{2} B_k (a_{-k} a_k + a_k^\dagger a_{-k}^\dagger) \right]$$

$$= \sum_k \frac{1}{2} \left[A_k a_k^\dagger a_k + A_{-k} a_{-k}^\dagger a_{-k} - \frac{1}{2} B_k (a_{-k} a_k + a_k^\dagger a_{-k}^\dagger) \right] - \frac{1}{2} \sum_k A_k$$

$$= \frac{1}{2} \sum_k \bar{\Psi}_k^{\dagger T} \hat{H}_k \bar{\Psi}_k - \frac{1}{2} \sum_k A_k$$

$$\bar{\Psi}_k^{\dagger} = \begin{pmatrix} a_k^\dagger \\ a_{-k} \end{pmatrix} \quad ; \quad \bar{\Psi}_k = \begin{pmatrix} a_k \\ a_{-k}^\dagger \end{pmatrix}$$

$$\hat{H}_k = \begin{pmatrix} A_k & -B_k \\ -B_k & A_{-k} \end{pmatrix}$$

$$[\Psi_k^\alpha, \Psi_k^{\beta\dagger}] = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} K_{\alpha\beta}$$

$$\hat{K} = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$[\vec{a}_k^\alpha, \vec{a}_k^{\beta\dagger}] = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} K_{\alpha\beta}$$

~~$\Psi_k^\alpha = T_{\alpha\beta} \vec{a}_k^\beta$~~

$$\Psi_k^\alpha = T_{\alpha\beta} \vec{a}_k^\beta$$

$$T = \begin{pmatrix} \mu_k & \nu_k \\ \nu_k^* & \mu_k \end{pmatrix}$$

~~$$\begin{bmatrix} \psi^d \\ \psi^{\beta^+} \end{bmatrix} \neq$$~~

$$\begin{aligned} \begin{bmatrix} d^d & d^{\beta^+} \\ d_k & d_k \end{bmatrix} &= \begin{bmatrix} (T^{-1})^d \psi_{k,1}^{d'} & (T^{-1})^{\beta^+} \psi_{k,1}^{\beta^+} \\ (T^{-1})^d \psi_{k,1}^{d'} & (T^{-1})^{\beta^+} \psi_{k,1}^{\beta^+} \end{bmatrix} = \\ &= (T^{-1})^d \begin{bmatrix} \psi_{k,1}^{d'} & \psi_{k,1}^{\beta^+} \end{bmatrix} (T^{-1})^{\beta^+} = \\ &= (T^{-1})^d K_{k,1}^{d',\beta^+} (T^{-1})^{\beta^+} = K^{2\beta} \end{aligned}$$

$$T^{-1} = \frac{1}{\det T} \begin{pmatrix} M_k^* & -N_k \\ -N_k^* & M_k \end{pmatrix}$$

$$\frac{1}{|\det T|^2} \begin{pmatrix} M_k^* & -N_k \\ -N_k^* & M_k \end{pmatrix} \begin{pmatrix} +1 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} M_k - N_k^* \\ -N_k & M_k^* \end{pmatrix} =$$

$$= \frac{1}{|\det T|^2} \begin{pmatrix} M_k^* & -N_k \\ -N_k^* & M_k \end{pmatrix} \begin{pmatrix} M_k - N_k^* \\ N_k - M_k^* \end{pmatrix} = \begin{pmatrix} M_k^2 - N_k^2 & N_k^* M_k - N_k M_k^* \\ M_k^* N_k - N_k^* M_k & N_k^2 - M_k^2 \end{pmatrix}$$

$$= \frac{1}{|\det T|^2} \begin{pmatrix} M_k^2 - N_k^2 & N_k^* M_k - N_k M_k^* \\ M_k^* N_k - N_k^* M_k & N_k^2 - M_k^2 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$N_k^* M_k - N_k M_k^* = 0 \Leftrightarrow \boxed{M_k, N_k \in \mathbb{R}}$$

$$\frac{M_k^2 - N_k^2}{(M_k^2 - N_k^2)^2} = 1 \Rightarrow \boxed{M_k^2 - N_k^2 = 1} \Leftrightarrow \det T = 1$$

$$H^i = \sum_k \omega_k d_k^+ d_k + \sum_k \frac{1}{2} (\omega_k - A_k) =$$

$$= \sum_k \left[\frac{1}{2} \omega_k d_k^+ d_k + \frac{1}{2} \omega_{-k} d_{-k} d_{-k}^+ - \frac{1}{2} \omega_{-k} + \right] \frac{1}{2} (\omega_k - A_k)$$

$$= \left| \omega_{-k} = \omega_k \right| = \frac{1}{2} \sum_k \bar{d}_k^{+T} H_k^i \bar{d}_k - \frac{1}{2} \sum_k A_k$$

$$\bar{d}_k^+ = \begin{pmatrix} d_k^+ \\ d_{-k} \end{pmatrix} ; \quad \bar{d}_k = \begin{pmatrix} d_{-k} \\ d_k^+ \end{pmatrix}$$

$$\hat{H}_k^i = \begin{pmatrix} \omega_k & 0 \\ 0 & \omega_k \end{pmatrix}$$

$$\boxed{\hat{T}_k^+ \hat{H}_k \hat{T}_k = \hat{H}_k^i}$$

$$\begin{pmatrix} \omega_k & 0 \\ 0 & \omega_k \end{pmatrix} \stackrel{A_k = A_{-k}}{=} \begin{pmatrix} M_k & N_k \\ N_k & M_k \end{pmatrix} \begin{pmatrix} A_k & -B_k \\ -B_k & A_k \end{pmatrix} \begin{pmatrix} M_k & N_k \\ N_k & M_k \end{pmatrix}$$

$$= \begin{pmatrix} M_k & N_k \\ N_k & M_k \end{pmatrix} \begin{pmatrix} A_k N_k - B_k N_k & A_k N_k - B_k M_k \\ A_k N_k - B_k M_k & A_k M_k - B_k N_k \end{pmatrix} =$$

$$= \begin{pmatrix} A_k N_k^2 + A_k M_k^2 - 2B_k N_k M_k & -B_k M_k^2 - B_k N_k^2 + 2A_k N_k M_k \\ \dots & \dots \end{pmatrix}$$

$$\omega_R = A_R (N_R^2 + M_R^2) - 2B_R N_R M_R$$

$$0 = -B_R (M_R^2 + N_R^2) + 2A_R M_R N_R$$

$$M_R^2 - N_R^2 = 1$$

$$\circ M_R N_R = \frac{B_R (M_R^2 + N_R^2)}{2A_R} \quad (1)$$

$$\Rightarrow \omega_R = A_R (N_R^2 + M_R^2) - \frac{B_R^2 (M_R^2 + N_R^2)}{A_R}$$

$$\Rightarrow M_R^2 + N_R^2 = \frac{\omega_R A_R}{A_R^2 - B_R^2} \Rightarrow M_R^2 = \left[\frac{\omega_R A_R}{A_R^2 - B_R^2} + 1 \right] \frac{1}{2}$$

~~$$= \frac{\omega_R A_R + A_R^2 - B_R^2}{A_R^2 - B_R^2}$$~~

$$\circ M_R N_R = \frac{-\omega_R + A_R (N_R^2 + M_R^2)}{2B_R}$$

$$0 = -B_R (M_R^2 + N_R^2) + \frac{A_R^2 (M_R^2 + N_R^2)}{B_R} - \frac{\omega_R A_R}{B_R}$$

$$(M_R^2 + N_R^2) = \frac{\omega_R A_R B_R}{B_R (A_R^2 - B_R^2)} \quad (2)$$

$$\Rightarrow N_R^2 = \left[\frac{\omega_R A_R}{A_R^2 - B_R^2} - 1 \right] \frac{1}{2}$$

$$\bullet \quad M_r N_r = \frac{B_r (M_r^2 + N_r^2)}{2A_r} = \frac{\omega_r B_r}{2(A_r^2 - B_r^2)}$$

~~with $M_r^2 + N_r^2$~~

(2) \rightarrow (1)

$$M_r^2 N_r^2 = \frac{\omega_r^2 B_r^2}{4(A_r^2 - B_r^2)^2} = \left[\frac{\omega_r A_r}{(A_r^2 - B_r^2)} + 1 \right] \left[\frac{\omega_r A_r}{(A_r^2 - B_r^2)} - 1 \right] \frac{1}{4}$$

$$\frac{\omega_r^2 / B_r^2}{A_r^2 + B_r^2} = \frac{\omega_r^2 B_r^2}{(A_r^2 - B_r^2)^2} = \frac{\omega_r^2 A_r^2}{(A_r^2 - B_r^2)^2} - 1$$

$$1 = \omega_r \frac{1}{A_r^2 - B_r^2} \Rightarrow \boxed{\omega_r^2 = A_r^2 - B_r^2}$$

$$\omega_r = \sqrt{A_r^2 - B_r^2} \quad \dots \quad \underline{\underline{\text{value}}}$$

$$M_r = \frac{1}{\sqrt{2}} \sqrt{\frac{A_r}{\omega_r} + 1}$$

$$N_r = \frac{1}{\sqrt{2}} \sqrt{\frac{A_r}{\omega_r} - 1} \quad \text{sign}(B_r)$$